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1) Which expression results in a rational number?

Given: L=+2 M=3vy3 N=4+16 P=409

a) L+ M c)N+P
b) M+N d)P+L

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

2) Find the difference between the polynomials:
(-5x2+x-5) - (-3x2-8x-3)

a) -2x2+9x+5 ) -2x2+9x-8
b) -2x2+9x-2 d) -2x2-7x-2

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

3) Find the product to the following expression:
(x-15)(x-3).

a) x2-18x-18
b) x2-18x-45

c) x2-18x+45
d) x2-12x+45

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

4) Which answer choice is equivalent to the
expression (x + 6)2?

a) x2+12x+12
b) x24+12x+ 36

€) x2+ 6x+ 36
d) x2 + 36

LY VENE VRN VN ENENEVENE VENENE NPT NN NNV VT VRN ENE NNV

5) Charles runs at a rate of 12 kilometers per hour.
What is Charles’ speed in meters per minute?

a) 12 meters per minute
b) 20 meters per minute
c) 120 meters per minute
d) 200 meters per minute

P P PP P P P PP P PO Pl P P P P P P P O P

6) How many terms would be in the simplified
expression 22x* + 142 4+ 3x+ 7 - 10227

a) 5 c)3
b) 4 d)2
7) Convert 3 weeks to hours.

a) 10.3 hours
b) 55 hours

c) 504 hours
d) 875 hours

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

Name

8) Which statement is TRUE about the value of the
expression 4(v8 + 4)?

a) Itisirrational because the product of an
irrational number and a rational number is
irrational.

b) Itis rational because the product of two
rational numbers is rational.

c) Itis rational because the product of a rational
number and an irrational number is rational.

d) Itisirrational because the product of two
irrational numbers is irrational.

9) Which mathematical term describes both the
number 5 and the sum (2 + x) in the expression
5(2+x)?

a) Coefficient c) Factor
b) Constant d) Variable

10) Andrew purchased some drinks and some chips.
Each bag of chips cost $2.00 and each drink cost
$2.50. The expression above gives the total amount
of money spent by Andrew on chips and drinks.
What is the meaning of the term 2.57

2x+ 2.5y

a) The number of drinks purchased by Andrew
b) The number of chips purchased by Andrew
c) The cost of one drink

d) The total amount spent on drinks by Andrew

P PP P P P P PP P P P P I P P P P T T P P P T P P P

11) A bird chirps 10 times a minute. Determine how
many times the bird would chirp in a day.

a) 144 times per day

b) 1,440 times per day
c) 14,400 times per day
d) 144,000 times per day

12) After simplifying the expression, how many terms
are there and what is the leading coefficient?
On+7nP-2m+8+4m

a) Terms: 2, leading coefficient: 7
b) Terms: 4, leading coefficient: 7
c) Terms: 2, leading coefficient: 9
d) Terms: 4, leading coefficient: 9
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13) The average time it takes Greg to mow a lawn can
be defined by the expression 28x+ 5 where xis the
number of lawns. In this scenario, what does the
number 28 represent?

a) The number of lawns Greg mows

b) The average time it takes to mow one lawn
¢) The average price Greg charges per lawn
d) The average time it takes to mow multiple
lawns

14) What are the term(s), coefficient(s), and
constant(s) described by the phrase, "the cost of 6
pizzas, c being the cost of each pizza, and a delivery
charge of $57"

a) Term: 6c, coefficient: 6, constant: 5

b) Term: 6c and 5, coefficient: 6, constant: 5
¢) Term: 6¢cand 5, coefficient: 5, constant: 6
d) Term: 11c, coefficient: 11, constant: none

15) The number of tennis shoes produced by a factory
is given by the expression above where the variable x
represents the number of hours that the factory has
been open. What is the meaning of the coefficient in
the expression 115x+ 3507

a) The factory started the day with 115 shoes.
b) The factory produces 115 shoes every hour.
c) The factory produces 350 shoes every hour.
d) The factory started the day with 350 shoes.

Pt PP P P P P P I P P P P P P P P P Pl I P P P P P P P P P

16) Simplify the radical —8+/726.

a) —886
b) —986+6

¢) —90.75
d) —2,904

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

17) The number of school buses needed to transport
students on a field trip is given by the function f(x) =

%. What is the domain of the function?

a) The setof all real numbers

b) The set of all integers

c) The set of all non-negative integers

d) The set of all non-negative real numbers

PP I P P P P P P P P P P P P P P P P P P P P P P P P

18) Look at the expression 2+/8 = 4/20. Which of the

following is equivalent to it?
a) 2428 c) 810
b) 5 d)324/10

P PP P P P P PP P P P P I P P P P T T P P P T P P P

19) Which sum is rational?

a) m+18 c) V25 + 1.75
b) V3+55 d)m++2

P PP P P Pt P Pl P PP P P P P P P P P P T P P P P P P P

20) What product is irrational?

3) \‘E""\ffﬁ C)\}Iﬁ_*\}z
b) V9 x+49 d)V10 =8

P PP P P P P PP P P P P I P P P P T T P P P T P P P

21) Arrectangle has a length of 12 meters and a
width of 400 centimeters, What is the perimeter, in
centimeters, of the rectangle?

a) 824 cm
b) 1600 cm

c) 2000 cm
d) 3200 cm

L N N N )

22) Jill swam 200 meters in 2 minutes and 42
seconds. If each lap is 50 meters long, which is MOST
LIKELY to be her time, in seconds, per lap?

a) 32 seconds
b) 40 seconds

c) 48 seconds
d)60 seconds

P PP P P P P I P P P PP PP P P Pl P T P P P P P P

23) In which expression is the coefficient of linear
term -17

a) 3n?+4n—1
b) —2n2—n+5

c)—n?+5n+4
d)4n?+n—5

24)  The expression s? is used to calculate the area
of a square, where s is the side length of the square.
What does the expression (8x)? represent?

a) The area of the square with side length of 8

b) The area of the square with side length of 16
c) The area of the square with side length of 4x
d) The area of the square with side length of 8x

P PP P P P P PP P P P P I P P P P T T P P P T P P P
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25)  Whatis the product of 7x -4 and 8x+ 57

€) 56x% +3x — 20
d) 56x2 — 3x + 20

a) 16x+1
b) 30x + 2

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

26) A model of a house is shown.

lde + 13
What is the perimeter, in units, of this model?

a) 32x+ 12 units
b)  46x + 25 units

c) 50x + 11 units
d) 64x + 24 units

27) Which expression has the same value as
(8x% +2x — 6) + (522 — 3x + 2)?

a)3x2-x—4
b) 3x* + 5x — 8

c)13x2—x—4
d) 13x* —5x—4

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

28) This equation is used to find h, the number of
hours it will take Flo and Bryan to mow their lawn.

R h
e T3=
How many hours will it take them to mow their lawn?

c) 2hours
d) 1 hour

a) 6 hours
b) 3 hours

. . a2 X
29) For what values of x is the inequality ;t3>1
true?

a) x<1 c)x<b
b) x>1 d) x=5

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

30) Which values is an irrational number?

a) 4++7 ) V3—+3
DRGNS S

Pt P P P P P P P I P P P P P P P P P Pt Pl P P P Pt P P P

31) Aferry boat carries passengers back and forth
between two communities on the Peachville River.
It takes 30 minutes longer for the ferry to make the
trip upstream than downstream. The ferry’s average
speed in still water is 15 miles per hour. The river’s
current is usually 5 miles per hour.

This equation can be used to determine how many
miles apart the two communities are.

m

15-5 1545 05
What is m, the distance between the two communities?

a) 0.5 miles
b) 5 miles

c) 10 miles
d) 15 miles

P PP P P P P PP P P P P I P P P P T T P P P T P P P

32) The measure of a squares side is 1.2 feet. What is
the perimeter or the square in inches?

a) 14.4inches
b) 19.2inches

c) 42.2 inches
d) 57.6 inches

P PP P P P P PP P P P P I P P P P T T P P P T P P P

33) A student can run 100 yards in 15 seconds. Convert
this speed to miles per hour.

[
[

3 fcot
1 yard

1 mile

5280 fect

100 wards

14 sec

60 zec

I
|

1 min

Which of the below choices would go in the missing
spot to make the conversion to miles per hour?

60 min 3600 sec
. o
b) —— d) ——

3600 sec

60 min

P PP P P P P PP P P P P I P P P P T T P P P T P P P

34) Which equation shows ax - w = 3 solved for w?

a) w=ax-3

b) w=ax+3
c) w=3-ax
d) w=3+ax

P PP P P P P I P P P PP P P P P Pl P P T P P P P P P
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1. A number of apples were shared evenly among
4 students. Each student was also given 2 pears.
Each student received a total of 6 pieces of fruit.
Let arepresent the total number of apples. Which
equation can be used to find the total number of
apples?

da+2=6
d)da-2=6

a) 4/,-2=6
b) ¢/, +2=6

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

2. A tour bus driver takes home 75% of the salary
he earns and gives 60% of his tips to the tour
guides on the bus. He took home $980 last week
from salary and tips. Let srepresent the driver's
salary and ¢represent the total amount of tips the
driver earns. Which equation can be used to find
the possible amounts of his salary and tips the
driver took home last week?

a) 0.75s5+ 0.4t=980
b) 0.755-0.4t=980

c) 0.755+ 0.04¢t= 980
d) 0.755- 0.04¢= 980

3. Nicole gets paid $120 each week and $35 for
every iPhone that she sells. Which of the following
equations represents her weekly income?

a) y=120x+35
b) y=120+35x

c)y=-35x+120
d) y=35x-120

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

4. Which BEST describes the system?

B3x+y=12
y=3x-2

a) The system cannot be solved

b) One solution; lines intersect

¢) Two solutions; lines are parallel
d) No solution; lines are parallel

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

5. Solve the equation for y.

Ix-4y=4
a) y=2x-2 ) y=%x+2
b) y=%x-1 d) y=x-2

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

Name Block

dx45-x=10
x-x+5=20

Criginal Equation
Commutative Prop of
Adgifion
x+5=20 Substiution Praperty of

Equelity
Ix=15 Sublrection Property of
Equdity

x=3

Which of these properties correctly justifies the
missing step in solving the equation above?

a) Distributive Property

b) Commutative Property of Addition

c) Commutative Property of Multiplication
d) Division Property of Equality

L N N N )

7. Solve for xin the following equation:
y=mx+b

a) x=y-m/fb
b) x=y/m+ b

cx=y+b/m
d)yx =¥2

m

L N N N )

8. Solve the inequality 4 — 5x < 14.

a) x<-2
b) x=>-2

c)x<-50
d)x>-50

L N N N )

9. Which of the following would be the first step in
solving this system using elimination?

2x+y=11
x+ 3y=-18

a) Multiply the second equation by 2
b) Multiply the second equation by -2
c) Multiply the second equation by 3
d) Multiply the second equation by -3

L N N N )

10. What is the solution to the linear system?

y=—-x+7
—2x+2y=6
a)(-2,9) ) (2,5)
b) (2,9 d) No solution

11. Ed and Greg are working on their math HW. Ed
says (2, 0) is a solution to y < 4x - & Greg
disagrees. Who is correct and why?
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a) Edis correct because when he plugged (2, 0)
into the expression it resulted in a true statement,
0=0.

b) Edis correct because when he graphed the
expression, (2, 0) was on the boundary line so it
is a solution.

c) Gregis correct because when he plugged (2,
0) into the expression it resulted in a false
statement 0 < 0.

d) Gregis correct because when he graphed the
expression, (2, 0) was not on the boundary line
so itis not a solution.

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

12. An arithmetic sequence has a common
difference of 4 and the 3t term is 10.

What is the 6t term?
a) 14 c) 34
b) 22 d) 18

13. A function is given a recursive form of
ap = ap_4 — 3 with a first term of 25.
Which function represents the sequence?

a) f(x)=x-3

b) f(x)=25x-3
c) f(x)=-3x+22
d) f(x)=-3x+28

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

14. Which of the following does NOT represent an
arithmetic sequence?

a) 3,4,5,6,7
b) -1,1,3,5,7
¢) 2,4,8,16
d) 10,6,2,-2

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

15. Given the arithmetic sequence 2, 5, 8, 11, ... find
dn
a) an=3n+1
b) a.=3n-1

c)an=2n+1
d) a,=-3n+5

16. Compare the following functions to determine
which has a greater rate of change.

Name Block
Function 1: Function 2:
y=3x+5 x| 2] 0] 4

y | 4| 2|12

a) Function 1

b) Function 2

c) The functions have the same rate of change
d) The function do not have a rate of change

17. What is the
solution to the system
of equations? x

a) (1,0)

b) (0,3)

c) Infinitely many
solutions

d) No solution

L N N N )

18. For the given linear T,
function, what are the s
intercepts? 2

a) (0,6)and (-6, 0)
b) (5, 0) and (-5, 0) EER) ]
&) (0,5)and (-5, 0)
d) (6,0)and (-5, 0)

2 4 6 8 0

& & b B

L N N N )

19. What is the x-coordinate at the point of

intersection for f{x)and g(x?
f(%) =3x+ 50
g(x)=2x-18
a) -35 c)3
b) -68 d) 32

L N N N )

20. What is the function notation form of the
sequence 4, 6, 8,10, .. 7

a) f(x)=2x
b)f(x)=2x+2

Ofx)=x+2
d)f(x)=4x+2

L N N N )

21.1f a system of linear equations has infinitely many
solutions, what do you know about the graphs ofthe




wk16 alg 1st.notebook

May 01, 2019

Milestone Review Unit 2
equations?
a)

b)

0
d)

The graphs coincide

The graphs intersect

The graphs are parallel

The graphs are perpendicular

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

22. Determine the range of the function.

a) (-2,0:)

b) (-2,0)

c) (0-2) \ !

d) (oo,00)  HEE \_""""--

LY NI N VRN VLV NENENE YN VENE NN NN NENENE VN VNN

23. Describe the end behavior of the function.

a) As x— -0, y—>
As x— 00, y— 00

b) As x— -0, p— -00
ASX—)m,y—)-m TR

Ll

c) As x— -0, y— -0
As x— o0, > o

d) As ¥— -0, y—> o0
Asxy— o,y -w

24. A shop sells one-pound bags of peanuts for $2
and three-pound bags of peanuts for $5. If 9 bags
are purchased for a total cost of $36, how many 3

pound bags were purchased?
a) 3 c)6
b) 9 d) 18

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

25. Which ordered pair is a solution of
3y42=2x—57

) (-5,2)
b) (0,-5)

c) (7,5)
d) (5,1)

26. Look at the steps used when solving 3(x - 2) = 3 for3

P

Name Block
Yx-2)=3 Write the eriginal equation.
A-6=3 Use the Distributive Property.
3-6+6=3+6 Step 1
=9 Step 2 ¥
1
3—"‘:; Step 3
3a 3
x=3 Step 4

Which step is the result of combining like terms?

a) Stepl
b) Step2

c)Step 3
d) Step 4

L N N N )

27.Use the functions to answer this question:
P(x)=x2-x-6
Qx)=x-3

What is P(x) - Q(x)?

a) x2-3
b) x2-9

c)x2-2x-3
dyx2-2x-9

L N N N )

28. Two lines are graphed on this coordinate plane.
What point appears to be a solution of the equations of

both lines? \
V7 \ j

29. Consider the system
2x+y=-1
4x-y=-11

a) (0,-2)
b) (0,4)
) (20) :
d) (3.1)

What is the x-value of the solution?
a) x=1 c)x=-2
b) x=-1 d) x=3

L N N N )

30. Iff(12 )= 4(12) - 20, which function gives f(x)?

a) f(x)=4x

b) f(x)=12x

c) f(x)=4x-20
d) f(x)=12x-20

P PP P P P P P P P P P P P P P P P P P P P P P P P P P

31. Which function represents the sequence?
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a) f(n)=n+3

b) f(n)=7n-4
c) f(n)=3n+47
d) fn)=n+7

P P P P P Pt P P P P Pt P P8 P P P P P Pl i P PO P P P 0

32. Based on the tables, at what point do the lines
¥ =—x+ 5andy = 2x — lintersect?

a) (L1) T RN

b) (3,5) .
A (2.3)
d) (3,2)

W e o™
!

w e | = o=
Mlw|s o, =

P P P P P Pt P P P P Pt P P8 P P P P P Pl i P PO P P P 0

33. Look at the tables of values for two linear
functions, f(x) and g(x). What is the solution to f(x)

=g(9?

a) x=3 A 18 A T
b) x= ; 0 7 0 -14
Q) x= 1 4 1 -10
d) x=1
a 2 2 -2
5 8 5 &
7 _14 7 14

34. The functions f(x) = x - 9 is shifted 2 units
up and 3 units to the left. Select the new function.
a) G(x)=2x-6
b) G(x)=(x-3)+7
c) G(x)=3x-7
d) Gx)=(x+3)-7

35. What is the solution to this system of
equations?

x-3y=1

Xx-2y=6

a) (-4.-5)
b) (-2-1)

) (4,1)
d) (16,5)

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

36. A manager is comparing the cost of buying
baseball caps from two different companies.

Name Block

v Company x charges a $50 fee plus §7 per
baseball cap.

¥ Company y charges a $30 fee plus $9 per
baseball cap.

For what number of baseball caps will the cost be
the same at both companies?

a) 10 c) 40
b) 20 d) 100

37. Which graph represents a system of linear
equations that has multiple common coordinate
pairs?

P PP P P P P P P P P P P P P P P P P P P P P P P P P P

38. Look at the sequences in this table.

1] 2 3 4 5
-1 1 3 5 T

Which function represents the sequence?
a) ap=ap1+1
b) an=as1+2
€) ap=2ap-1-1
d) ap=2an_1—3

L N N N )

39. Which of these is an even function?

a) f(x)=5x% —x
b) f)=3x%+x
c) f(x)=6x2—8
d) fx) = 4x® + 24

P PP P P P P P P P P P P P P P P P P P P P P P P

40. Consider this pattern.
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Which function represents the sequence that
represents the pattern?

a) ap=@a,1—3

b) an=a,-1+3

€) anp=3an1—3

d) ap=3a,1+3

41. If a parent functions if f(x) = mx + b, what is
the value of the parameter m for the line passing
through the points (-2, 7) and (4, 3)7

a) 9 c)-3/2
b) -2 d) -2/3

B L N L VLV NN

42. Which function is modeled in this table?

a) fx)=x+7
b) f(x)=x+9
c) f(x)=2x+5
d) f(x)=3x+5

W
-
oy

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

43. Which explicit formula describes the pattern

in this table?

a) d=3.14xcC 2 628
b) 3.14xC=d '
¢) 314x10=C 9.42
d Cc=3.14xd 5 | 15.70
10 31.40

44. A wild horse runs at a rate of 8 miles an hour
for 6 hours. Let y be the distance, in miles, the
horse travels for a given amount of time, x, in

hours. This situation can be modeled by a function.

Which of these describes the domain of the
function?

a) 0=x<6

b) 0<y<6

c) 0=x=48

d) 0<y=<48

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

Name Block

45. Kelly works 8 hours less than three times as
much as March works for the week. Which
expression represents the number of hours Kelly
works in relation to March?

a) 3m-8
b) 8-3m
c) 3(m-8)
9 5

L N N N )

46. To rent a canoe, the cost is $3 for the oars and
life preserver, plus $5 an hour for the canoe. Which
graph models the cost of renting a canoe?

A B.

25 z5
20 20
s s
o 1o

= s

Il - = - F r &

P PP P P P P P P P P P P P P P P P P P P P P P P P P P

47. Juan and Patti decided to see who could read
more books in a month. They began to keep track
after Patti had already read 5 books that month,
This graph shows the number of books Patti read
for the next 10 days and the rate at which she read
for the rest of the month.

Number of Books

Books

O 2345678910

hay
If Juan does not read any books before day 4 and he
starts reading at the same rate as Patti for the rest of
the month, how many books will he have to read by

day 127

a) 5 c) 15
b) 10 d) 20

Pt Pl P P P P P P P P P P P Pl P P P P P Pl P P P P Pl

10
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48, Which statement BEST describes the graph of
f(x+6)?7
a) The graph of f(x) is shifted up 6 units
b) The graph of f(x) is shifted left 6 units
¢) The graph of f(x) is shifted right 6 units
d) The graph of f(x) is shifted down 6 units

P P P P P P P P P P P P P i P P P Pt P P P P P P Pt P P

49, To rent a carpet cleaner at a hardware store,
there is a set fee and an hourly rate. The rental
cost, ¢, can be determined using this equation
when the carpet cleaner is rented for h hours.

c=25+3h

‘Which of these is the hourly rate?

a) 3

b) 3h
c) 25
d) 25h

Pt P P P P P P T TP P P P P P P P P Pl P P P P P P P

50. Sandra sells necklaces at a school craft fair.
She uses the equation:

P=7.5n—(2.25n + 15)

to determine her total profit at the fair. Based
on this equation, how much does she charge
for each necklace?

a) $2.25
b) $7.50
) $15.00
d) $17.25

51, The perimeter of arectangle is P =2w + 2J
where w is the width and 1 is the length.
Rearrange the formula to find the width wof
the rectangular prism.

a) w=p-2l

b) w=2-
4-1

¢) w=2P-1

P
d) w==-1

Pl P T P P O P P P P O P P P P P 0 P T Pf P Pl £ P

52. What is the domain of the function y = 3x + 57

Name Block

a) (-oo0, w)
b) (0,5)
c) (0,3)
d)3

N N N N N S NN TN VLN ST ST LY VDN VE VT VT VPN NF T

53. Which one of these is not a function?

A) (5. 3). (6, 4). (7, 3). (8, 4)

P PP P P Pt P PP P P Pl P o P P P P P P P P P P P P P Pt

54. Determine whether the function f{x) = -3x*- 2 is
even, odd, orneither.

a) Even b) 0dd c) Neither

P PP P P Pt P P P P P P P P P P P P P P Pt P P P P P P Pt

55. Which of the following graphs is odd?

a) <)
I AR N y :
T AN ] ol 'y |
4 Al
-3 1 O R &
-t : N
ANA! zh
e 1 \\ £ 3 i am mw
b) | 3] Q
L - |
I |
i
1 '
i i : 1
(] i 5 53 il E
e T z
!
bl 4
= | i E
ENTNENPNUNPVR. P vt N PUPRIE PN PN PN INPNENE v v mav ot ot

56. For the function g(i) = 3n - 5find g(-2).

a)-11 b) -1 o1 d) 11

11
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1) Which expression is equivalentto 121x2 — 64y??

a) (lix-1ey)(1lx+ 16y)
b) (11x-16y)(11x- 16y)
c) (11x+ 8y)(1ix+ 8y)
d) (11x+4 8y)(11x-8y)

2) What is the common factor for the expression
24x% + 16x + 1447

a) 16

b) 8

c) 3x%2+2x+18

d) 8(x-2)(3x* +9)

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

3) Which of these shows the complete factorization
of 6x2y? — 9xy — 427

a) 3(2xy? — N (xy? + 2)
b) (3xy + 6)(2xy—7)

c) 3(2xy —7)(xy + 2)
d) (3xy? + 6)(2xy% — 7)

P P P P P P P P P P P P P P P 1 P P P P P P P P P P P P

4) What are the zeros of the function represented by
the quadratic expression 2x2 + x — 37

a)x=-3/2andx=1
byx=-2/3andx=1
c)x=-landx=2/3
dyx=-1andx=-3/2

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

5) What is the vertex of the graph of
f(x) =x%+10x —9?

a) (5, 66)
b) (-5,-9)
o (5-9)

d) (-5,-34)

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

6) Which of these is the result of completing the
square for the expression xZ + 8x — 30?

a) (x+4)*-30
b) (x+4)2—46
) (x+8)2-30
d) (x+8)2-94

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

7) Which of the following is a binomial factor of the
polynomial x2 + 10x - 247

a) (x+4)
b) (x-12)
c) (x-4)
d) (x+12)

PP P P P P PP P P P P P P P P P T T P P P P P P P

8) Factor the trinomial x2 + 6x - 40.

a) (x+8)(x-5)
b) (x+10)(x-4)
) (x-10)(x+4)
d) (x+12)(x-6)

PP P P P P PP P P P P P P P P P T T P P P P P P P

9) Factor 2x2 + 18x + 40.

a) 2(x + 5)(x-4)
b) 2(x - 5)(x+4)
) 2(x+ 4)(x+ 5)

d) 2(x-4)(x-5)

10) Consider the equation (2x+ 1)2-5=3x%24+1,
if you were to use the quadratic formula, what could
be the values of a, b, and ¢?

a)a=4,b=-3,c=5
b)a=2,b=-4,c=5
c)a=1b=4c=-5
d)a=5b=2,c=-4

PP P P P P PP P P P P P P P P P T T P P P P P P P

11) What is the y-intercept of y = 5x2 + 18x + 37

a) (0,3)
b) (3.0)
c) (0.-3)
d) (-3,0)

12) The length of the rectangle is 3 cm more than
twice the width. If the area of the rectangle is 44 cm?,
what is the width of the rectangle?

a)2cm

b) 11 cm
C)4cm 44 cm’
d) 22 cm

— —

-2w+3

PP P P P P PP P P P P P P P P P T T P P P P P P P
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13) Solve by factoring and use the zero-product
property:
X2+ 6x-40=0.

a)x=10,x=-4

byx=-8,x=5
c)x=-10,x= 4
dyx=-5x=8

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

14) Find the solutions to the quadratic equation:
2x2-Tx-4=0

a)yx=1,-2
by x=14,-4
c) x=-%,2
d)yx=-1%4

15) Solve the quadratic equation x2 - 6x- 3 =0by
completing the square.

a) x=3i2v’§
b) x=—-3+243
c) x=3++6

d)x=-3+2v/6

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

16) Solve the quadratic equation 2x2 - 5x = 1.

_ 5+433

a) x==—
_ —51y33
-54/17
0 x=——
4 =22

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

17) A student named Scott could determine the
solution of a quadratic equation was:

_54V7
T3

X

Which of the following shows the correct
approximation of his answer?

a) x~ 14410

b) x® 4118 orx~ 5.882
c) x®07850rx~ 2.549
d) x®-0979orx# 4.312

P PP P P P P P P P P P P P P P JP P P P P P P P Pl P Pt P Pl

18) If the zeros of a quadratic function arex=-2 and x
= 4, what is the equation of the axis of symmetry?

a) x=0 c) x=2
b) x=1 d)x=3

P PP P P P P P P P P P P P PP P P P P T P P P T P P P P P

19) What are the solutions to the equation

x? — 5x = 147
a) x=-7andx=-2
b) x=-14andx=-1
c) x=-2andx=7
d) x=-landx= 14

P P P PO P P P P P U P P P P PP P P P P P P P P P

20) The expression —x? + 70x — 600 representsa
company’s profit for selling x items. For which
number(s) of items sold is the company’s profit
equal to $07

a) Oitems

b) 35items

c) 10 items and 60 items
d) 20 items and 30 items

P P P P P P P P P P P P P P P P P P P P P P P

21) The formula for the area of a circle is A = 712,
Which equation shows the formula in terms of r?

a) r=%
b r=%

= A
c) T—J;
d r=1

L N N N )

22)What are the solutions to the equation
2x% —2x — 12 =107

a) x=-4andx=3
b) x=-3andx=4
c) x=-2andx=3
d) x=-6andx=2

23) What is the range of the graph of y = -x2 - 2x - 57
(-00,1]

[-1, o)

(-o0,-4]

[-4, o)

Ao oW

P P P T P D P ) P P P 0 0 1 0 T P P P 00 P P

14



wk16 alg 1st.notebook

May 01, 2019

Unit 3

24) What are the solutions to the equation
6x% —x — 40 = 0?

a) x=-8/3andx=-5/2
b) x=-8/3andx=5/2
c) x=5/2andx=8/3

d) x=-5/2andx=28/3

POt P I P P P P P PR P P P Pt P Pt P P P Pt 5l P Pl P P Pt Pl o Pl P

25) Which parabola below has a maximum value?

a) y=4x24+24x4 23
b) y=0.1x2-3x

c) y=2x-3x2

d) y=x2+2x+20

Pt Pt P P P P Pt P P P P P P P ) P P P P P P P Pl P P P o ol Pt

26) A garden measuring 8 feet by 12 feet will have
a walkway around it. The walkway has a uniform
width, and the area covered by the garden and the
walkway is 192 square feet. What is the width of

the walkway?

a) 2 feet

b) 3.5 feet

c) 4feet

d) 6feet
27) An object is thrown in the air with an initial
velocity of 5 m/s from a height of 9 m. The equation
h(t) = —4.9t? 4 5t + 9 models the height of the
object in meters after t seconds. About how many
seconds does it take for the object to hit the
ground? Round your answer to the nearest tenth of
asecond.

a) 0.940second

b) 1.50 seconds

c) 2.00 seconds

d) 9.00 seconds
28) Abaseball player hits a baseball that is
modeled by the function s(t) = —16t + 80t + 4
represents the height in feet of an object, from the
ground after the time, t, in seconds.

About how long will it take the baseball to hit the
ground?

a) 2 seconds

b) 3 seconds

c) 4 seconds

d) 5 seconds

P P Pt P P P P P P P P P P P P P S P o P P P P P P P P

29) A café's annual income depends on x, the number
of customers. The function I(x) = 4x% — 20x
describes the café’s total annual income. The
function €(x) = 2x% + 5 describes the total
amount the café spends in a year. The café’s
annual profit, P(x) is the difference between the
annual income and the amount spent in a year.
Which function describes P(x)?

a) P(x)=2x>—-20x—5

b) P(x) = 4x® — 202

c) P(x)=6x>—20x+5

d) P(x)=8x*—40x3— 20x? — 100x

P P P P P P P P P P P P P P T T P P P PP P P

30) What is the end behavior of the graph of
f(x) =—0.25x%2 —2x + 1?

a) As x> -oo, f(x) > oo, As x> oo, f(x) > 0
b) As x=2 -0, {(X) > -0, As x> m, {(X) > -0
c) As x> -o0, f(x) > -00, As x> 00, f(X) > w0
d) As x> -oo, f(x) > o0, As x> -o0, f(x) 3> -c0

P PP P P P P P P P PP P P i P P P P P P P

31) Which statement BEST describes how the graph
of g(x) = —3x? compares to the graph of f(x) = x??

a) The graph of g(x) is a vertical stretch of f(x)
by afactor of 3

b) The graph of g(x) is a reflection of f(x)
across the x-axis

c) The graph of g(x) is a vertical shrink of f(x)
by a factor of 1/3 and a reflection across the x-
axis.

d) The graph of g(x) is a vertical stretch of f(x)
by a factor of 3 and a reflection across the x-
axis.

32) A flying disk is thrown into the air from a height of
25 feet at time t = 0. The function that models this
situation is h(t) = —16¢% + 75t + 25, where tis
measured in seconds and h is the height in feet.
What values of t best describe the times when the
disk is flying in the air?

a) 0<t<bh

b) 0<t<25

c) Allreal numbers

d) All positive integers

P P P PR P PR P PP P P P P I P P P PR P
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33) Use this table to answer the question
X -2 -1 0 1 2
fx) |15 |9 |5 |3 |3

What is the average rate of change of f(x) over the
interval -2 < f(x) < 0?7

a) -10
b) -5
c)5
d) 10

34) Which function has a range of f(x)< 3?
a) f(x) =3x+5
b) f() = —x+
0 f(x) =2~
d) f(x) =2-5x

PP P P PP I P P P P P P P P P P P P P P P P P P

35) Convert y =x2 - 12x + 40 to vertex form.

a) y=(x-6)>+40
b) y=(x+6)2+36
c) y=(x-6)2+4
d) y=(x-12)2-36

Pt P P P P P P P T P P P P P P P P P P T P P P P P P P P P

36) Use the graph to answer the question
A

)

Which function is shown in the graph?

a) f(x)=x*>—3x—10
b) f(x) =x%+3x—10
Q) f(x)=x+x—12
d) f(x)=x*—-5x—8

PP P P P P P P P I P P P PP T P P P P P

37) The function f(¢) = —16t% + 64t + 5 models the
height of the ball that was hit into the air, where tis
measured in seconds and h is the height in feet.
This table represents the height, g(t), of a second
ball that was thrown into the air. Which statement
BEST compares the length of time each ball is in the
air?

Timet(in |0 1 2 3
sec)

Heightg(t) [4 [36 [36 |4
(in ft)

a)  The ballis represented by f(t) is in the air for
about 5 seconds and the ball is represented by g(t)
is in the air for about 3 seconds.

b)  The ball represented by f(t) is in the air for
about 3 seconds and the ball represented by g(t) is
in the air for about 5 seconds

c)  The ball represented by f(t) is in the air for
about 3 seconds and the ball represented by g(t) is
in the air for about 4 seconds

d) The ball represented by f(t) is in the air for
about 4 seconds and the ball represented by g(t) is
in the air for about 3 seconds

38) If the original parabola is defined by y =x2, how
would it change y = 2(x - 3)2 + 1 were graphed
instead?

a) The parabola would be vertically stretched by a
factor of 2, translated right 3, up 1

b) The parabola would be vertically compressed by
a factor of 3%, translated left 3, down 1

c¢) The parabola would be vertically compressed by
a factor of 14, translated right 3, down 1

d) The parabola would be vertically stretched by a
factor of 2, translated left 3, up 1

T T T VN N N N )

39)  Which is the equation of the following

parabola in vertex form?
>
o &) > -4 1 2 - 4 :

-4
=y
.
-6

a) y=4x? c)y = ¥ax?

b) y=-4x2 d)y=-14x?

PP P P P P P P P P P P P P P P P P P P P P P P P P P P P
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40) Which is the graphy = (x- 1)2 - 2?

v g ¥

T Y Y L N L)

41) Ifyou place one of the foundation points of
the St. Louis arch at the origin, you could roughly
describe it as a parabola with the equation

vy =-0.00635(x - 315)2 + 630. How tall is the arch?

a) 200 ft tall
b) 315 ft. tall

¢) 630 fttall
d) 945 ft. tall

P P P P P P P P P P P PP P P 1P PR I P P P P P P P P

42) Consider the graph of the function shown
below. Which of the following functions represent
the quadratic function?

& A F & A

a) f(x) = (x- 1)(x-3)
b) f() = (x- 1)(x-2)
Q) fx)=(x+1(x+3)
d) fx)=(x+1)(x+2)

P P P PP P P P P P P Pt P Pt P P P Pt P P I P P P P

43) Abaseball is hit by a batter. The function
h(t) = -16t2 + 48t + 2 describes the height in feet
of the baseball as a function of time ¢in seconds.
What is the maximum height of the ball?

a) 16 ft.
b) 38 ft.
c) 48 ft.
d) 50 ft.

POt P P I P P P P P P P P P P P P P P P P P P P P 1 P o P

44) The table defines a quadratic function.

What is the average rate of change between x = -1
andx=1?

a) Undefined c)-3
b)-1/3 d)-4

P PP P P P T P P P P P P P P P P P P P P P P P P P P

45) The graph shows the height, y, in meters of a rocket
above sea level in terms of the time, t, in seconds
since it was launched. The rocket landed at sea
level.

135

100 f
75|
B0

=6

0 12345678 8101112

What does the x-intercept represent in this situation?

a)  The height from which the rocket was
launched

b)  The time it took the rocket to return to the
ground

c)  The total distance the rocket flew while it was
in flight

d) The time it took the rocket to reach the highest
point in its flight

P PP P P P P PP P P P P P P P P P P T P P P P P P P P

46) How would you shift the parent function y= # to
graph the function y= (x- 4)2 + 5?

a) The function y = x2 would be shifted 4 units
to the right and 5 units down.

b) The function y = x2 would be shifted 4 units
to the right and 5 units up.

¢) The function y = x2 would be shifted 5 units
to the right and 4 units down.

d) The function y = x2 would be shifted 5 units
to the left and 4 units up

P P P P P T P O N P P P T P P P T P
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47) The axis of symmetry of a parabola does not
always contain which point?

a) Maximum or Minimum

b) Vertex

c) Midpoint of the x-intercepts
d) y-intercept

48)  The parent function f (x) = x2 is reflected
across the x-axis, vertically stretched by a factor of
4 and translated right 3 units to create g (x). Use
the description to write the quadratic function in
vertex form.

a)g(x)=-4(x+3)2
b) g (x) = 4(x + 3)2
) g(x) =4(x-3)?
d) g (x) =-4(x-3)?

P P P P P Pt P P P P Pt P P8 P P P P P Pl i P PO P P P 0

49) Which function has its vertex below the x-
axis?

a) f(x)=x2-8
b) f(x)=(x-7)*
c) f(x)=-2x2

d) f(x)=-(x+3)2

50) Does the function f (x) =x2-10x+ 18 havea
maximum or a minimum? What are its
coordinates?

a) Maximum; (5, -7)
b) Minimum; (5, -7)
¢) Maximum; (-5,-7)
d) Minimum; (-5, -7)

P P P P P Pt P P P P Pt P P8 P P P P P Pl i P PO P P P 0

51) What are the factors of the equation
x2-6x+5=0

a) (x+1)(x+5)
by (x+2)(x+3)
c) (x-1)(x-5)
d) (x-2)(x-3)

Pt P P P P P P Pt P P P P P P P P P Pt P P P P P P o P

52) Which of the following expressions below
shows the complete factorization of the
expression

2%% + 4x2 - 6X

a) (2x2-2x)(x+3)
b) 2x (x*+2x-3)

) 2x(x-1)(x+3)
d) 2 (x®+2x?-3x)

A P P P Pt P Pt PO P P P P P P P P P P P P P PP P

53) What is the value of the function f{x) = 22 -5x+2
evaluated at x= 27

a) 16
b) 6
c) 2
d) -4

A P P P Pt P Pt PO P P P P P P P P P P P P P PP P
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1. A culture of bacteria doubles every hour. If there
are 500 bacteria at the beginning, how many

bacteria will there be after 9 hours?
a) A. 256,000 ¢) 9,000
b) 4,500 d) 40,500

2. Given the function £(x) = 630(0.64)x,
determine if this function models exponential
growth or decay and identify the growth or
decay rate.

a) Decay, 64%
b) Decay, 36%

c) Growth, 64%
d) Growth, 36%

P PP P P P P P P I P P P P T P P P P P P P P P

3. The value (in millions of dollars) of a large
company is modeled by £(x) = 241 (1.04)x
What is the projected annual percent of
growth and what is the initial value?

a) 10.4%; $241 million
b) 2.41%; $104 million
€) 241%; $4 million
d) 49%; $241 million

P PP P P P P P P I P P P P T P P P P P P P P P

4. The recursive formula for a geometric
sequence is given as:
a,=(0.6)a r1
a;= 100

What is the explicit formula for the same
sequence?

a) ay= 100 (0.6)=
b) a,= 100 (0.6)~

) a,= 0.6 (100)=1
d)a,= 0.6 (100)=

P PP P P P P P P I P P P P T P P P P P P P P P

5. Write an explicit rule for the following
sequence 32, 16, 8,4, ... (Hint: a, = a:(r)™1)

a) ap= 32(0.5)=1
b) a,=32(2)=

c) ap= 32(-2)=1
d) a,= 32(0.25)=!

P PP P P P P P P I P P P P P PR PR P P P P P

6, What is the asymptote of the function:
fE)=(1/3)-27

a)y=2 y=-2
byx=0 d)yx=1/3

Name

7. Which of the following equations represents a
reflection over the x-axis, horizontal shift left 4 units,
vertical shift up 8 units, and a shrink from the parent
function f{x)= 27

a) fix)=2+4-8

b) f(x)=-3/4(2)*+8
c) f(x)=-3/4 (2)**+ 8
d) fx)=-5(2)*+8

P P 8 P 5 Pl P Pt ot P P 0 8 ot Pl Pl P ot Pl Pl 5 8 P P ot ol
Function 1: Function 2:

An exponential decay
function that has been
reflected over the «-axis
and shifted up 2 units.

oo

)

o =] N
w

Which function has no x- intercepts and why?

a) Function 1, it has been shifted up 2 units, and
therefore, will not cross the x-axis.

b) Function 1, it has been reflected across the x
axis, and therefore, will not cross the sx-axis.

c) Function 2 because the x-axis is a horizontal
asymptote.

d) Function 2 because the y-axis is a horizontal

asymptote.

9. Given f(x) = 3rand g (x) = -2(3)*+ 4, describe the
transformations performed on £(x) to get g (x).

a) Vertical Shrink by a factor of -2, Vertical Shift up 4
b) Reflection over the x-axis, Vertical Stretch by a
factor of 2, Vertical Shift up 4

c) Reflection over the x-axis, Vertical Stretch by a
factor of 2, Vertical Shift down 4

d) Reflection over the x-axis, Vertical Shrink by a
factor of ¥4, Vertical Shift up 4

P P P P P P P P P P P P P P P P P P P P P P P P P P P

10. What is the j~intercept of the function whose
equation is y= 2(3)*?

a)l )6
b) 3 d)2

P P P P P P P P P P P P P P P P P P P P P P P P P P P
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11. What is the average rate of change of f{x) on the
interval [-3,-1]?

a) -2 F V=703
b)- 3
)t A -
d) -15 ] o I

PP P P P P P P P P P P P P P P P P P P P P P R P P P P P

12. State the range for the function.

a) (-1, o)
b) (-o:,-1)
c) (-0, 1)

d) (-o0, )

PP P P P P P P P P P P P P P P P P P P P P P R P P P P P

13. Determine the function represented by the graph.

d f(x)
a) fix)=(¥%)*-2 b
b) f{x)=(3)*2
A fx)=(2)*1
d f=@x-1 o tf
4 3 -2 .1-2/1 2 3 4

14. Which statement correctly describes part of the end
behavior of the function graphed?

. 10
g9
a
3 ]
\
BF
V-
\ al
~4-<a
'\\.'r‘—
e
5 4 3 -2 -1 4 1 2 3 & §
18

a) Asx— oo,y o0
b) Asx—-co, y—0
c) Asy— oo, y—>0

d)Asx— -0, y— -0

PP P P P P P P P P P P P P P P P P P P P P P R P P P P P

15. Determine which function represented above has a
greater average rate of change on the interval from 0 to 2,
inclusive.

(x) oM |t |
2 3 PEEREEIEN
f - 5 B S R _Ix:. -+
1] {5
-1 -1 K | [ Bl UL
IS mad BE YRR
! | | /fll . !
i[9 1 = b | | |
o N AR RN YA
AT
- 3 PP T,
EEEEENNBAL
2 | s | A
'] TP ]
a) fix)
b) g

c) They have the same rate of change.
d) Itisimpossible to compare their rates of change.

16. A certain population of bacteria has an average
growth rate of 2%. The formula for the growth of the
bacteria’s population is 4 = P, * 1.02" where P, is the
original population and t is the time in hours.

If you begin with 200 bacteria, about how many
bacteria will there be after 100 hours?

a) 7

b) 272
©) 1449
d) 1478

P P P P P P P P P P P P P P P P P P P P P P P P P P P

17.Which function represents this sequence?

1 2 3 4 5
6 18 | 54 | 162 | 4B6
a) f(m)=3""
b) f(n) = 6"

Q) f(n)=3(e)"!
d) f(m)=6(3)"*

P P P P P P P P P P P P P P P P P P P P P P P P P P P
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18. The points (0, 1), (1, 5), (2, 25) and (3, 125) are on
the graph of a function. Which equation represents that
function?

a) f(x) = 2*
b) f(x) = 3¢

O f(x) = 4*
d) f(x) = 5*

PP P P P P P P P P P P P P P P P P P P P P P R P P P P P

19. Which functions show the function f(x) = 3* being
translated 5 units down?

c) f(x) =33
d) f(x)=3*+5

a) f(x)=3*—5
b) Flx)=3%*

P PP P P Pt P P P P P Pt P A P P Pt P P P P P Pt P P o P P P P P

20. Which function shows the function f(x) = 3 being
translated 5 units to the left?

O f(x) =3
d) f(x)=3*+5

a) f(x)=3"-5
b) f(x) =3

PP P P P P P P P P P P P P P P P P P P P P P R P P P P P

21. Consider the pattern.

Which function represents the sequence that

represents the pattern?
a) ap,=4"1 Q) ap = ap + 4™
b) a, =41 d) a, = (a,)*

PP P P P P P P P P P P P P P P P P P P P P P R P P P P P

22. Which function is modeled in this table?

1000
800
640
512

Elw| M|

a) f(x)=1000(0.80)
b) f(x) = 1000(0.20)
c) f(x) = 1000(0.80)*"!
d) f(x) = 1000(0.20)*1

PP P P P P P P P P P P P P P P P P P P P P P R P P P P P

23. Which explicit formula describes the patter in this

table?
0 1
1 6
2 36
3 216
a)C=46d c)Cc=¢6"
b)C=d+6 d) ¢ =d"

PP PO P P P P P Pt P PR P P P P P P P P Pt P P P P P P P

24.1f f(12) = 100(0. 50)2, which expression gives

£(x)?

a) fl(x)=12%

b) f(x) = 100°

9 F() = 100(:)"
d) f(x) = 100(0.50)

PP PO P P P P P Pt P PR P P P P P P P P Pt P P P P P P P

25. Which function is modeled in this table?

PP

1 8
2 40
2 200
4 1.000

a) f(x)=x+7

b) f(x)=5x+8

o fl)=8

d) f(x)=2(5)"

Pt Pt P P P P P P P P P P P P P Pl P P P Pl P P P P P

26. Which table represents an exponential function?

PP

A. x (4] 1 2 3 a4
¥ 5 6 7 8 9

al 0 1 2 3 4
¥ o 22 a2 | e | 88

c 0 1 2 3 a
5 13 | 21 | 29 | a7

o x 0 1 2 3 4
¥ 0 3 9 27 B1

Pt Pt P P P P P P P P P P P P P Pl P P P Pl P P P P P
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27. A population of squirrels doubles every year.
initially, there were 5 squirrels. A biologist studying
squirrels created a function to meld their population
growth: P(t) = 5(2"%), where tis the time in years. The
graph of the function is shown.

P(1)
100

80 .

60

40

20—

-?is 5 -2.|5 [ 2|.5 5 715

What is the range of the function?

a) Any real number

b) Any whole number greater than 0

¢) Any whole number greater than 5

d) Any whole number greater than or equal to 5

28. A sample of 1000 bacteria becomes infected with a
virus. Each day, one fourth of the bacteria sample dies
due to the virus. A biologist studying the bacteria
models the population of the bacteria with the function
P(t) = 1000(0.75)", where t is the time in days.

What is the range of this function in this context?

a) Any real number such thatt = 0.

b) Any whole number such thatt = 0.

¢) Any real number such that 0 < P(t) < 1000.
d) Any whole number such that 0 < P(z) < 1000.

29. Look at the graph. Which equation represents this
graph?

a] y=2:\:‘+1_2
b) y=2*142
C) y=2:\:‘+2_1
d) y=2%2+1

30. The function graphed on this coordinate gird shows
f(x), the height of a dropped ball in feet after its xth
bounce.

Ax)
i
254
Z | 20|
= (15}
[--]
Lx )
S 10l e
p=
3 54 s !
. -
[ 3 4 +

Number of Bounces

On which bounce was the height of the ball 10 feet?
a) Bounce 1
b) Bounce 2
c) Bounce 3
d) Bounce 4

P P P P P P P P P P P P P P P P P P P P P P P P P P P

31. Which statement is true about graphs of exponential
functions?

a) The graphs of exponential functions never exceed
the graphs of linear and quadratic functions.
b) The graphs of exponential functions always exceed
the graphs of linear and quadratic functions.
¢) The graphs of exponential functions eventually
exceed the graphs of linear and quadratic
functions.
d) The graphs of exponential functions eventually
exceed the graphs of linear but not quadratic
functions.

P PP P P P P P P I P P P P T P P P P P P P P P P P

32. Which scatter plot BEST represents a model of
exponential growth?

£ 60 i o)
-
- 50 = 0 -
K- | |
2 40 2 20 -
A = 30 - B £ 30| .
s 20| s 20}
A 10} = a8 10,
- x -
4 0 4 F 12 4 0 4 % 12

Years Since 2000 Years Since 2000

Deer Population
Deer Population

4 0 4 8 12

Years Since 2000 Years Since 2000
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33. Atable of values is shown for f(x) and g(x).

35. Does the data in the table represent a linear,
m quadratic, exponential or other type of function?

]
g

0 1] 0 -2

! ! ! - a) Linear - i

2 4 2 1 0 1
b) Quadratic 2 4

3 9 3 5 . 4 16

r % 2 = c) Exponential e e

5| = 5| 2 d) Other 8 256

Which statement compares the graphs of f(x) and g(x)
over the interval [0, 5]?

a) The graph of f(x) always exceeds the graph of g(x)
over the interval of [0, 5].
b) The graph of g(x) always exceeds the graph of f(x)
over the interval [0, 5].

¢) The graph of g(x) exceeds the graph of f(x) over the
interval [0, 4], the graphs intersect ata point
between 4 and 5, and then the graph of f(x)
exceeds the graph of g(x).

d) The graph of f(x) exceeds the graph of g(X) over
the interval [0, 4], the graphs intersect at a point
between 4 and 5, and then the graph of g(x)
exceeds the graph of f(x).

NP P P P P P D P T P P P P 0 P 3 P T P 08 P 0 P P 3 O P

34. Which statement BEST describes the comparison
of the function values for f(x) and g(x)?

0 1] -10
1 2 -9
2 4 6
3 6 -1
4 B 6

a) The values of f(x) will always exceed the values
of g(x).

b) The values of g(x) will always exceed the values
of f(x).

¢) The values of f(x) exceed the values of g(x) over
the interval [0,5].

d) The values of g(x) begin to exceed the values of
f(x) within the interval [4,5].

NP P P P P P D P T P P P P 0 P 3 P T P 08 P 0 P P 3 O P
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your name is on your paper, your work is neat
and accurate — this is a quiz grade!
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1. Which group has the GREATEST spread in the

upper 25% of their data?
1 oo
a) Group1l
b) Group2

c) Group 1 and 2 have the same spread
d) The spreads cannot be determined

2. The number of points scored per basketball game
for 2 teams has been recorded in the form of a box
plot.

Which team has the GREATEST median for points
scored per basketball game?

a) Team A

b) TeamB

c) Same median

d) Medians cannot be determined

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

3. Which set of data has the GREATEST mean?

Set A
s SetB . .
a L -
3 L -
2 "« 8 8 8 @
1

—_—TT T

5 &6 7 8 9 5 6 7 @ @8
a) SetA
b) SetB

c) SetA and B have the same mean, 7
d) SetA and B have the same mean, 9

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

4. Which correlation coefficient would BEST describe
the relationship between two variables that have a

WEAK, NEGATIVE correlation?
a) -0.25 c)-0.84
b) -0.63 d)-0.99

P PN P P P P P PP P P P Pl P Pl P O P T P T O O

Name Block

5. The data set above shows students’ scores on a
test. Describe the shape of the data distribution if
the student who scored 100 is NOT included in the
data set.

70 72 T3 74 74

75 75 75 75 76

77 77 78 80 | 100

a) Skewed Right

b) Symmetric

c) Skewed left

d) Itisimpossible to determine

L N N N )

6. Ms. Warren collects information about her
students. She records students’ favorite movie
types in the table and separates the responses by
age. What is the marginal relative frequency of 15-
year-olds?

| Favorite movie genre
Axe Comedy | Romantic comedy | Action | Thriller
15 years old 8 14 2 9
16 years old 13 16 18 5
a) 0.50
b) 0.30
c) 038
d) 0.26

7. Gerry collected data and made a table of relative
frequencies on the number of students who
participate in chorus and band.

Chorus
Yes No Total
Yeos 0.38 0.29 0.67
Band
No 0.09 0.24 0.33
Total 0.47 0.53 1.0

Given that a student is not in chorus, what is the
probability that he or she is in band?

a) 0.29
b) 043
c) 038
d) 055

L N N N )
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8. Which linear function is a good fit for the data in
the given table?

¥

6
12
15
24
28
32
35
a0
46
52

a) y=5x+2
b) y=5x-2
c) y=-bx+2
d) y=-bx-2

W & W N

-
=]

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

9. What does a correlation coefficient of 0.17 suggest
about two variables?

a) The variables are positively correlated, and x
causesy.

b) The variables are positively correlated, and x
does not cause y.

c) The variables are weakly correlated, and x
causesy.

d) The variables are weakly correlated, and x does
not cause y.

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

10. Which equation is the BEST fit for the data?

a y=-x+47 YT

b. y=-x+39 S|

c. y=x+39 ;'5’ |*

d y=x+47 il
25— ey
20 P e
]5 L] 8
0| -
sl

00 5 1015 20 25 20 35 40 x
PP PP P P P PP P P P P PP P P P P P P P P P

11. In this context, what does the slope of the linear
function that models the data represent?
Value of Cars from Time of Sale

Age of Car Value of Car

(In Months)
0 $34,000
48 $10,000
24 $12,500
12 $20,250
18 $20,000
20 $14,150

a) The original value of the car.
b) The gain in value of the car.

c) The loss in value of the car.

d) The value of the car per month.

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

12. Which of the following relationships below show
no causation?

a) The age of an adult and the adult’s pant size.
b) Adecrease inrainfall and an increase in
water restrictions.

¢} The number of times suspended, and the
amount of school days missed.

d) Anincrease in snow fall and the number of
inches of snow reported.

P PP P P P P P P P P P P P P P P P P P P P P P P

13. The graph shows the relationship between air
temperature and altitude.

CHANGE IN TEMPERATURE

r

W w e =

7

Altitude (Kilometers)

—

=

o 15 2 25
Temperature ['C)

What is the meaning of the x-intercept in this context?
a) The air temperate at sea level
b) The altitude at which the air temperate is 0°C
c) The rate of change of temperature with altitude
d) The altitude at which air temperate is 5°C

PP P P P P PP P P P P P P P P P T T P P P P P P P

14. This table shows the average low temps in
Fahrenheit, recorded in Macon GA and Charlotte, NC,
over a six-day period.

Termperature in Macon, GA (°F) TL| 72 66 |89 |71 |T

|TernperaLureiuChar:llla. NC (*F) |59 | 54 | 68 | T4 | 71 | 75 |

Which conclusion can be drawn from the data?

a) The interquartile range of the temps is the same
for both cities

b) The lower quartile for the temps in Macon is less
than the lower quartile for the temps in charlotte

¢) The mean and median temps in Macon were
higher than the mean and median temps in
charlotte

d) The upper quartile for the temps in charlotte
was less than the upper quartile for the temps in
Macon

L N N N )

PP P P P P PP P P P P P P P P P T T P P P P P P P
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15. A school was having a coat drive for a local shelter.
A teacher determined the median number of coats
collected per class and the interquartile range of the
number of coats collected per class for the freshmen
and sophomores.
«  The freshmen collected a median number of
coats per class of 10 and the interquartile range
was 6
*  The sophomores collected a median number
of coats per class of 10 and the interquartile

range was 4

Which range of numbers includes the third quartile of
coats collected for both the freshmen and sophomores?

a) 4to14
b) 6to14
¢) 10016
d) 12to15

16. A reading teacher recorded the number of pages
read in an hour by each of her students. The numbers
are listed below:

44, 49, 39, 43, 50, 44, 45,49, 51

For this data, which summary stat is NOT correct?

a) The minis 39

b) The lower quartile is 44
¢) The medianis 45

d) Themaxisbl

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

17. Which of these statements is an example of
causation?

a) When the weather becomes winter, more
meat is purchase at the supermarket

b) More people go to the mall when students go
back to school

c) The greater the number of new television
shows, the fewer the number of moviegoers

d) After operating costs are paid at a toy shop, as
more toys are sold, more money is made

P PP P P P P P I P P P P P P P P P Pt P Pl P P P Pt P P P P

Pt PP P P P P P I P P P P P P P P P Pt P Pl P P P P P P P P P P

18. A science teacher recorded the pulse of each of the
students in her classes after the students had climbed
a set of stairs. She displayed the results, by class, using
the box plots provided.

Pulse
Class 1 o—[]:]—-
Class 2 "D:l_'
Class 3 .—[D—-
Class 4 .—{:D—.

60 65 70 75 80 85 90 95100

Which class generally had the higher pulse after
climbing the stairs?

a) Class1
b) Class2
c) Class3
d) Class4

L N N N )

19. Peter went bowling, Monday to Friday, two weeks
in a row. He only bowled one game each time he went.
He kept track of his scores below.

Week 1: 70,70,70,73,75

Week 2: 72, 64,73,73,75

What is the BEST explanation for why Peter’s Week 2
mean scores was lower than his Week 1 mean score?

a) Peter received the same score three times in week 1
b) Peter had one very low score in week 2

c) Peter did not beat his high score from week 1 in
week 2

d) Peter had one very high score in week 1

20. This histogram shows the frequency distribution of
duration times for 107 consecutive eruptions of the Old
Faithful geyser. The duration of an eruption is the length
of time, in minutes, from the beginning of the spewing of

water until it stops. What is the BEST description for the

distribution?

Duration af 107 Congeentive
Ol Mirhful Eruprions

a) Bimodal
b) uniform

c) Multiple Outliers

Frequency

d) Right Skewed '3

Duruliva [miinmies)

PP P P P P PP P P P P P P P P P T T P P P P P P P
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21. Which graph MOST clearly displays a set of data
for which a quadratic function is the model of best fit?

-
Al . Bl 'y L
o . .
] LR 10w
.
p— . S S
b b 40 i i an
0 wf . .
L]
i) -e 3n -
c. . o. .
p- L e

Pt PP P P P P P I P P P P P P P P P Pt P Pl P P P P P P P P P P

22. A scientist studied the relationship between the
number of trees, x, per acre and the number of birds, y,
per acre in a neighborhood. She modeled the
relationship with a scatter plot and use the equation y
= 4 + 6x for the regression line. What is the meaning
of the slope and y - intercept of this regression line?

a) The slope is 6. This means that the average
number of birds per acre in an area with no tress
is 6. The y intercept is 4. This means that for every
1 additional tree, she can expect an average of 4
additional birds per acre.

b) The slope is 4. This means that for every
additional tree, she can expect an average of 4
additional birds per acre. The y intercept is 6. The
average number of birds per acre in an area with
no tress is 6.

c) The slope is 6. This means that for every
additional tree, she can expect an average of 6
additional birds per acre. The y intercept is 4. The
average number of birds per acre in an area with
no trees is 4.

d) The slope is 4. This means that the average
number of birds per acre in an area with no trees
is 4. The y intercept is 6. This means that for every
1 additional tree, she can expect an average of 6
additional birds per acre.

Pt PP P P P P P I P P P P P P P P P Pt P Pl P P P P P P P P P P

Pt PP P P P P P I P P P P P P P P P Pt P Pl P P P P P P P P P P

23-25: This graph plots the number of wins in the
2006 season and in the 2007 season for a sample of

professional football teams.
Team Wins., 2006 and 2007
.‘.

16 .
= 14
s .
g 12|
W .
5 10 L
LA . .
.E -
£°
Z 4 ..
2
0 X
2 4 6 B 1012 14 16

Wins in 2006 Season

23. Which BEST describes the correlation of the two
variables shown in the scatter plot?

a) Weak positive

b) Strong positive
c) Weak negative
d) Strong negative

24. Which equation BEST represents a line that

matches the trend of the data?
a) y=x+2
b) y=x+7

c) y=3/5x+1
d) y=3/5x +5

25. Based on the regression model, what is the
predicted number of 2007 wins for a team that won 5
games in 20067

a) 4
b) 7
c) 8
d) 12

PP P PP PP P P P I P P P P P P P P P P P
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weekend practice for Alg EOC

1 Select Students 2 Choose Assignment J 3 Choose Settings

Drag each assignment row up or down to set the order in which students will complete the assignments. Students must complete the assignments
in the order you specify here.

Start Date: |05/03/2019
End Date: |05/06/2019

Minimum Score Allow Multiple Allow Students to Retry
Requirement Attempts Missed Items
Assignment Copy First Row Copy First Row py First Row
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Algebra | EOC (G5E)
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Test - Medium Test - =9 @
L Ea Unlimited D Yes ® No
3 T=st-large Test Unlimited O Yes® No

Algebra | EOC (GSE)
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GSE Geometry
Name:

Unit 4 — Segment Lengths and Volume

Vocabulary: Chord, tangent, volume, Cavadlieri’'s Principle, Pythagorean Theorem, cross section.

1) Find the value of x.

2) Find the value of x.

3) Find the value of x.

4) Find the value of x.

K
3x

X+ 12

5) s AB a tangent? Why or why
not?

Ve
7

6) Find the value of x.

7) Find the volume of the figure with
a diameter of 12 in. and a height of
20 in..

=
=

8) Find the volume of the hemisphere.

15 cm

9) If the volume of a cone is 23
in3, what is the volume of a
cylinder with the same base
area and height? Explain how
you got to your answer?

10) Find the Volume of a square
based pyramid.

11) Name the cross section

12) Name the cross section

EOC Review
Block:






GSE Geometry Unit 4 — Segment Lengths and Volume EOC Review
Answers

1) What is the volume of a cylinder with a radius of 3 in. and a height of g in.? 1)

o0 w >
|
3
5

2) A cereal box is 10.4 inches high, 7.4 inches long, and 2.3 inches wide. What is the
volume of the cereal box rounded to the nearest cubic inch? 2)

77

140
177
236

o0 W

3) Frances bought a new refrigerator to replace her old refrigerator shown below. Her
new refrigerator has the same length and width as the old refrigerator but is 8 inches 3)
higher. How many more cubic inches of space are in Frances’s new refrigerator
compared to her old refrigerator?

Frances” (Md Refrigerator

£ )

[ 62 inch

% N, 1
30 inch

-

236 1nch ’

8,640

14,880
17,856
25,440

0w






GSE Geometry Unit 4 — Segment Lengths and Volume EOC Review

4) The grain bin below is made up of a cylinder with a cone on top. To the nearest cubic
foot, how much grain will this bin hold? 4)

5,625 cubic feet

17,671 cubic feet
32,987 cubic feet
70,650 cubic feet

oCow»

5) A square pyramid is packaged inside a box. The space inside the box around the
pyramid is then filled with protective foam. About how many cubic inches of foam is 5)
needed to fill the space around the pyramid?

AN
/

;

f

5inches

5inches

5inches

A. 8 cubic inches
B. 41 cubic inches
C. 83 cubic inches
D. 125 cubic inches

6) In circle P below, DG is tangent. AF = 8, EF = 6. BF = 4,and EG = 8. Find CF
and DG.

x
o
I

x
S
o)
I

G
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GSE Geometry
Name:

Unit 5 — Geometric and Algebraic Connections

EOC Review
Block:

Vocabulary: Midpoint, distance, partition, endpoint, circle

1) Write the equation of the circle in

standard form (5, 1) and (6, 7).

N b

B b L

& U 4

2) Find the midpoint of

3) Find the coordinates of the other
endpoint of a segment with an
endpoint of (-2, 2) and a

midpoint (8, 3).

4) Brandy and Mandy are in the pool playing a game of
Marco Polo. Brandy swims 10 ft south and 7 ft east of
base. Mandy swims 6 ft north and 5 ft west from where
they started together in the middle of the pool. How far
apart are Brandy and Mandy?

5) Determine whether Point A (-5, 8) lies on the circle
whose center is Point C (1, 2) and which contains the
Point P (7, -4).

6) Find the area and perimeter of the figure.

o
o

=

4
4

IS T S -] - I -

2 J*
=

Q

7) Given that a parallelogram’s sides are parallel, prove
the following is a parallelogram.

L D 0,

p | d | &= |

8) Write an equation of the line that passes through (-3, 4)
and is paralleltoy = —3x- 1.

9) Write an equation of the line that passes through (5, -3)
and is perpendicular to y = -5/2x+1.

10) Find a point P on the segment with endpoints A(-1, -3)
and B(7, 1) that partitions it in a 3:1 ratio.

11) Find a point T on the segment with endpoints C(-4, -6)
and D(2, 3) that partitions it in a 2:1 ratio.






GSE Geometry Unit 5 — Geometric and Algebraic Connections

EOC Review

Answers

1) A circular sidewalk is being
constructed around the perimeter of a
local park. A brick pathway will be
added through the diameter of the
circle as shown on the coordinate
plane below, and a tree will be
planted in the sidewalk at the center
of the circle. What are the
coordinates where the tree will be
planted?

1)

2) Which is the equaton of the circle
shown below?

A (x—3)2+y%2=3

B
C. (x+3)?2+y%2=
D

2)

3) Given the points A(-1,2) and B(5,11), find the coordinates of the point P on directed

line segment AB that partitions AB in the ratio 1:2. 3)
A. (1,5)
B. (2,6.5)
C. (6,9)
D. (3,4.5)
4) The equation of a circle is (x + 2)2? + (y + 3)? = 4. Which represents the equation?
A , B. , 4)
AL (L frm
| | | [T T AN
EeER ! EEEEECEERAEE
O , S
T " Tl lelal 2 T2
i i 2 j}l“_il‘lH'
e EEEmmmmmCEEE
[T T
C. y\ D. ).J
[ HEEEEEEE RN
B! ERREERTEE
3 | || | |2 | |
) | o
-8 —P\- \J‘z 2 - 7|8 7|0I74 o] I% o
G
ST S






GSE Geometry Unit 5 — Geometric and Algebraic Connections EOC Review

5) Darcy used a coordinate grid, y
shown below, to sketch the location A 5)
of some important buildings in her ’
town. Each block represents 1 square

8
7
mile. If Darcy could travel in a straight 2 Park
line from her house to school, how 4 .
. [ ] I School
many miles would she travel? 1 <
[ | Library | <
A. 5.1 miles R 2 2 R PR e W
B. 6.3 miles - o Posti__s parcy's
C. 8.2 miles 1 ‘ -:: Office House
D. 9.1 miles || L1 1

6) Which point is on a circle with a center of (3,-9) and a radius of 5?
6)
A. (-6,5)
B. (-1,6)
C. (1,6)
D. (6,-5)

7) Triangle ABC has vertices as shown. ¥

What is the area of the triangle? 7

f
. o

A. V72 square units
B. 12 square units

C. V288 square units C(-3,0)/ |

=
(=
8

D. V24 square units | |-4 [-2 :0 2 |4
+ ! ._2
|

e

8) The line p is represented by the equation y = 4x + 1. What is the equation of the line that is
perpendicular to the line p and passes through the point (8,5)?






GSE Geometry Unit 5 — Geometric and Algebraic Connections EOC Review

9) Circcle P is dilated to form P’. Which statement is ALWAYS true?

A. The radius of circle P is equla to the radius of circle P’.

B. The length of any chord in circle P is greater than the length of any chord in circle P’.
C. The diameter of circle P is greater than the diameter of circe P’.

D. The ratio of the diameter to the circumference is the same for both circles.

Parallelogram ABCD has vertices as shown.

Which equation would be used in proving that the diagonals of parallelogram
ABCD bisect each other?

<

(3-1)°+(2-0)* = [1-3)* +(0+4)?

A.
B. {(3+1)%+ (2+o) =J(1+3)%+(0-4)?
C. (-1-1)"+(4-0)* = (1 -3)* +(0+4)?

(
D.

1+1)? (4+0) =\/(1+3) +{0-4)?

103. A factory uses the pattern shown below to cut circles out of sheet metal to make the bottoms of buckets.
.‘l

A
!
.J 1
L C
.I ‘)f
b v v
X 6h -5 1.‘\‘-4.‘__I___,J"r-l\q"h

If the center of the circle is €, what is the equation of the edge of the circular pattern?

(x—1P+ (v—-3)7° =186
(x—12+ (y—3)2=25
(x=30+ (y-1)2=16
(x=3P2+ (v—-1)2 =25

ISEESRN
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GSE Geometry Unit 6 — Probability EOC Review
Name: Block:
Vocabulary: Independent events, dependent events, conditional probability, Addition Rule,
Multiplication Rule for Independent Events, outcome, overlapping events, union, intersection

4) What is the probability of drawing a
Queen from a deck of cards, and then
Employment Survey Results drawing a king without replacement?

Age (in Years})

Employment Status | Less than 18 18 or greater Total
Has Job 20 587 607
Does Not Have Job 245 92 337
Total 265 679 944

1) Find the probability that a randomly selected person will have a job, given Independent or dependent

they are older than 18. P(job | older than 18). 5) Drawing one card from a standard

deck of cards, what is

P(drawing a 6 card or drawing a Jack)

2) What is the probability that person has a job?

3) Find the P(Does not have a job and is less than 18)

Mutually exclusive or overlapping

6) For a standard deck of cards, what
is the probability of drawing a U
diamond, replacing it, and then 9) Find P(B)'=
drawing a 2?

10) Find P(A U B)=

17
11) Find P(A N B)=
7) Find P(A)=
12) Find P(AN B)=
8) Find P(B)=
Independent or dependent
13) If you draw one card from a 14) Are the events independent? 15) Are the events independent?
standard deck of cards what is P(A) = 0.08; P(B) = 0.4; P(A) = 0.30; P(B)=0.15;
P(jack card or heart) P(AnB)=0.12 P(A n B) = 0.045

Mutually exclusive or overlapping






GSE Geometry Unit 6 — Probability EOC Review

Answers
1) For which set of proabilities would event A and B be independent?
1
A. P(A)0.25,P(B) = 0.25; P(A and B) = 0.50
B. P(4)0.08,P(B) = 0.40; P(A and B) = 0.12
C. P(A)0.16,P(B) = 0.24; P(4 and B) = 0.32
D. P(A) 0.10,P(B) = 0.30; P(4 and B) = 0.03
2) What is the probability that a radonmly chosen person has blonde hair, given that the
person selected is male? 2)
Hair Color
Brown | Blonde Red
A. 0.51
B. 0.55
C. 0.58
D. 0.63
3) When rolling a fair, six-sided number cube, what is the probability of rolling an even
number or a number less than 3? 3)

OO0 ®p

WlRrN|IRWINO |1

4) Each letter of the alphabet is written on separate cards in red ink. The cards are
placed in a container. Each letter of the alphbet is also written on separate cards in 4)
black ink. The cards are placed in the same container. What is the probability that a
card radomly selected from the container has a letter written in black ink or the letter is
AorZ?

RN |[RrR | yN R
co.:l‘-“’csxlcl-lwl\1

oo w2






GSE Geometry Unit 6 — Probability EOC Review
5) Ms. Klein surveyed 240 men and 285 women about their vehicles. Of those
surveyed, 155 men and 70 women said they own a red vehicle. If a person is chosen at | 5)
random from those surveyed, what is the probability of choosing a woman or a person
who does NOT own a red vehicle?

14

57
71

105
74

105
88

105

oo w>»

6) Bianca spins two spinners that have four equal sections numbered 1 through 4. If she
spins a 4 on at least one spin, what is the probability that the sum of her two spins is an | 6)
odd number?

© 0o w>»

7) Assume that the following events are independent:

7)

e The probability that a high school senior will go to college is 0.72.

e The probability that a high school senior will go to college and live on campus is
0.46

What is the probability that a high school senior will live on campus, given that the
person will go to college?

A. 0.26
B. 0.33
C. 0.57
D. 0.64

8) A student draws a card from a standard deck and then draws another card without replacing the
first card. Explain why the probability of picking an ace on the frist draw and the probability of
picking a 7 on the second draw are NOT independent events.
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GSE Geometry
Name:

Unit 1 - Transformations

EOC Review
Block:

Vocabulary: Translations, Dilations, Reflections, Rotations, and Isometric.

1) Translate the following points by
the rule: (x,y) — (x+1,y-4)

S (-5, 2)—>
Y (-4, 5)—>
R (-1, 1)—
A (-4, -2)—>

2) Translation: (X, y) > (x—2,y —6)
W(3, 2) C(Z, 4) T(3,5) Z(5,2)

3) Reflection over y = x
y

™.,

4) Reflection over y = -3
y

5) Rotate the figure 90° CW

y

N

Y

L

DL

7) Find the coordinates of the new
vertices of the image that has been
dilated by a factor of 5.

S(-5, 2)—>
Y (-4, 5)—>
R (-1, 1)—>

A (-4, -2)—

8) Find the coordinates of the new
vertices of the image that has been
dilated by a factor of 1/2.

W(3, 2)—
C(, 4)—
T (3, 5)—

Z (5, 2)>

9) Draw a dilation with k = 2

¥

A

a3

10) Determine the scale factor, k = ___

11) Given the points
M(-3,1) S(5,-2)

Translate: (x — 3, y + 2)
Reflect: y = x

M -
M —

S -
S’ >

12) Given the points

K(,-4) P(6,-3) R(1,2)
Reflect: over the x-axis
Rotate: 270 CCW

K —> K’ —>
P - P’ —
R —> R” —






GSE Geometry Unit 1 - Transformations EOC Review
Answers
1) Which transformation maps the solid figure ;3
onto the dashed figure? |¥ 1)
A. rotation 180 about the origin /
B. translation to the right and down /
C. reflection across the x-axis ~ | {
D. reflection across the y-axis - >
r 4
it T
H
LA
I'- -
L
2) If triangle ABC is rotated 180 degrees about ¥
the origin, what are the coordinates of A’? 1 2)
A. (-5-4) :
B. (-5,4) M B A
C. (4,5
- - 3 i
D. (-4,5) AL
1
L Ci d
(<7 65 4 3210 3 485671 "
-1
-2
-3
-4
5
]
-7
-
3) Determine the angle of rotation for A to map
onto A’? : 3)
A. 45 A
B. 90
C. 135
D. 180
- AI
4) Which transformation will place the trapezoid ¥
onto itself? 4 4)
(_21' 3} (EI 3)
A. counterclockwise rotation about the origin
by 90
B. rotation about the origin by 180
C. reflection across the x-axis >
D. reflection across the y-axis K x
{-41 ‘3) (41 -3]
L






GSE Geometry Unit 1 - Transformations EOC Review

5) AJKL is rotated 90 about the origin and then translated using (x,y) = (x — 8,y + 5). What are the Answers
coordiantes of the final image of L? The coordinates for AJKL are J(5,-1), K(4,4), and J(9,3).

(-7,10) y
(-7,0) . 1
(-9,10) 8
(-9,0) _ | K|

5)

OO

o

6) Which figure has 90 rotational symmetry?
6)
square

regular hexagon
regular pentagon
equilateral triangle

oSoOow»

7) Point P is located at (4,8) on a coordinate plane. Point P will be relfected over y = x. What will bee
the coordiantes of the image of point P? 7)

A. (28,4)
B. 24,8)
C. (4,28)
D. (8,4)

8) Point F’ is the image when point F is reflected over the line x = —2 and then over the liney = 3. The
location of F’ is (3,7). Which of the following is the location of point F? 8)

A (-7-1)
B. (-7,7)
C. (15)
D. (1,7)

9) A triangle has vertices at A(-3,-1), B(-6,-5), C(-1,-4). Which tranformation would produce an image
with vertices A’(3,-1), B’(6,-5), C'(1,-4)? 9)

A relfection over the x-axis

A relfection over the y-axis

A rotation 99 clockwise

A rotation 90 counterclockwise

oCow»

10) The vertices of AJKL have coordinates J(5,1), K(-2,-3), and L(-4,1). Under which tranformation is the
image AJ'K'L' NOT congrunet to AJKL? 10)

A translation of two units to the right and two units down

A counterclockwise rotation of 180 degrees aound the origin
A reflection over the x-axis

A dilation with a scale factor of 2 centered at the origin

oow»
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GSE Geometry
Name:

Unit 2 — Triangles and Quadrilaterals

EOC Review
Block:

Vocabulary: Supplementary, complementary, vertical, same side interior, same side exterior,
alternate interior, alternate exterior, corresponding, triangle, quadrilateral, and parallelogram.

Y/
3/4

5/6

—

1) Name the angles listed and the
special property.

/1 and £5

Z4 and £6

/2 and Z8

/4 and £5

2) Given m||n and mZ8, find the

measures of all the numbered angles

in the figure.

msZ1 = msZ2 =
ms£3 = msZ4 =
m«s5 = mZ6 =
msZ7 = ms£Z8 =112

3) Solve for x.

4) Solve for x.

5) Solve for x.

68

(6x + 3)°
(2x + 1)
W
N e+ 2y
6) solve for x. 7) Solve for x. 8) Solve for x and m+J
89° B
(14x + 6)°
(5x - 6)°
57°
A c
A
9. Solve for x. 10) Find x and y. 11) Find x and y.
pp o X 8x + 12 v
Y
X
88°
112
w 4






GSE Geometry Unit 2 — Triangles and Quadrilaterals EOC Review
Answers
1) Peach Street and Cherry Street are parallel. Apple Street intersects them, as shown in the diagram
below. If mz1 = 2x 4+ 36 and m«£2 = 7x — 9, wjat is mz1? 1)
A. 9 A Ia-Slreel
B. 17 PP
C. 54 1 Peach Street
D. 70
. Charry Street 2 .
2) What is the measure of B in the figure below?
A )
A. 62
B. 58
C. 59
D. 56 7
C 62 ]| B
3) In this figure, | || m. Jessie listed the first two steps in a proof that 21 + 22 + 23 = 180°. Which
justification can Jessie give for step 1 and 2? v 3)
A. Alternate interior angles are congruent. !
B. Corresponding anlges are congruent.
C. Vertical angles are congruent.
D. Alternate exterior angles are congruent.
* .'H':-
Step Justification
1| £L2=/4 ?
1 L3=45 ?
4) In the diagram below of parallelogram STUV, SV = x + 3,VU = 2x — 1,and TU = 4x — 3. What is the
length of SV? 4)

v

oOw
N RN






GSE Geometry Unit 2 — Triangles and Quadrilaterals EOC Review
5) In parallelogram ABCD, find mzA.

15° A B K

70° (6x + 20)°
110°
200°

o0w»

4x + 10)°
D 12

6) What reason explains why the mzQ = 115°?

Q R

6)

650
P S

A) diagonals of a parallelogram bisect each other

B) opposite sides of a parallelogram are congruent

C) opposite angles of a parallelogram are congruent

D) consecutive angles of a parallelogram are supplementary

7) Find x and y in the diagram.
7)

A) x=60,y=30
B) x=45,y=60
C) x=30,y=60
D) x=60,y=120

8) List the angles of the triangle in order from SMALLEST to LARGEST.
A 8)

A) «C, £B, 2A
B) <A, 4B, «C
C) <«C, £A, 4B
D) 4B, «C, 2A
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GSE Geometry
Name:

Unit 2 — Similarity, Congruence, and Proofs

EOC Review
Block:

Vocabulary: SSS, SAS, ASA, AAS, HL, CPCTC, Reflexive Property, Definition of a Midpoint, Midsegment.

Determine if the following triangles are similar. (SSS, AA, SAS, None)

1 OABC ~ by
o

8
c
15 o 12 18
A F E

2) OGHI ~ by
2%
8 _J 9
—73
G 6 H K 13 L

3) OMNO ~

by

4) Solve for x.

A 4 B E
\/
C

7

v

F

o
6) If a 42.9 ft tall flagpole casts a
253.1 ft long shadow, then how long
is the shadow that a 6.2 ft. tall woman
casts?

7) Solve for x.

A
3% -1

34

9) Solve for x.

21 9
X
14

Determine if the following triangles ar

e congruent. (SSS, SAS, ASA, AAS, HL, N

one)

10)

AN

Y W

12)

N
N

B C R U
[T
L | N
-
A D S v
Statements Reasons Statements Reasons
1 AB=DC - 1. RT=TV L
2. AC=AC 2. 2. 2. Given
3. ZABC& ZCDA 3. 3. ZRTS= ~VTU 3.
are right angles.
4. /ABC=/CDA | 4. 4. ARTS=AVTU | 4
5. AABC = ACDA 5. 5. ZISR= ZTUV | 5.






GSE Geometry Unit 2 — Similarity, Congruence, and Proofs EOC Review
Answers
1) Use this triangle to answer the question. 2) Look at the triangle.
1
, )
77°
H J )
52¢
G K
This is a proof of the statement “If a line is parallel to | whjch triangle is similar to the given triangle?
one side of a triangle and intersecrts the other two
sides at distinct points, then it seperates these sides
into segments of proportional lengths.” 51°
A.
Step Statement Justification Ly
1 GK I paratie! to HJ. Given
ZHBK = Z1H1 >
2 LIKG = LUK ? 6e°
3 AGIK ~ AHY AA Similarity B.
4 6_K Corresponding sides of similar Oa
H U triangles are proportional,
HG+IH K +U
5 TR Segment Addition Postulate c. .
B HG _JK Subtraction Property of — a
H U Equality
Which reason justifies step 27? D. A
A. Alternate interior angles are congruent.
B. Alternate exterior agnler are congruent.
C. Corresponding angles are congruent.
D. Vertical angles are congruent.
3) Which can be used to prove the triangles are 4) In the triangle shown, GH || DF.
congrunet? E 3
B
C 6
D
G H 2)
4 3
D
E E
What is the legnth of GE?
A. SSS
B. ASA A 20
C. SAS B. 45
D. AAS C. 75
D. 8.0






GSE Geometry Unit 2 — Similarity, Congruence, and Proofs EOC Review

5) In the disgram, CD is the perpendicular disector of | 6) In the triangles shown, A ABC is dilated by a
AB. The two-column proof shows that AC is factor of 2 to form A XYZ. 5)
congruent to BC. ) 8
C
X
6)
A D B B
Given that mzA = 50°and m«B = 100°, what is
Step Statement Justification meZ?
1 | CDIs the perpendicular bisector of AB. | Given
2 |AD=BD Definition of bisector A. 15
3 |th=¢CD Reflexive Property of Congruence B. 25
4 ZADC and ZBDC are right angles. Definition of perpendicular lines g 38
5 | ZADC = /BDC All right angles are congruent. >
6 AADC = ABDC ?
7 |AC=BC cPeTC
Which of the following would justify step 67
A. ASS
B. ASA
C. SAS
D. SSS
7. Given the diagram below, what is the value of x?
n____
7.5 ft.

A. 135
B. 14.6
C. 155
D. 16.6

8. To find the height of a lamppost at a park, Rachel placed a mirror on the ground 20 feet from the base
of the mappost. She then stepped back 4 feet so that she could see thee top of the lamppost in the center | 8)
of the mrror. Rachel’'s eyes are 5 feet and 6 inches above the ground. What is the height, in feet, of the
lamppost?

Lamppost

Y
/
-

Rachel

X x°

W

Mirror
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GSE Geometry Unit 3 — Right Triangles EOC Review
Name: Block:

Vocabulary: Sine, cosine, tangent, complements

1) Find sin A= 5) sin75° = cos
A
A 2) Find tan B=
1 6) cos40° = sin
c 71n. B 3)Find cos B=
7) cos54° = cos
4) Find tan A=
8) Find f. 9) Find m. 10) Find x.
43 R
25° J
f X
’ m 1 a2
! 13 C
11) Find angle P. 12) Find s. 13) Solve for theta.
57 32 B
13
40
0 17 3
C 3 A
14) From 25 feet away from the base of a building, the 15) A kite is 35 feet in the air and the string forms an
angle of elevation from the ground to the top of a building | angle of 62° with the ground. How long is the string?
is measured to be 38°. How tall is the building?






GSE Geometry Unit 3 — Right Triangles EOC Review

Answers

1) A 30-foot long escalator forms a 41° angle at the second floor. Which is the closest
height of the first floor? 1)

A. 20 feet

B. 22.5 feet 41

C. 24.5 feet 2 30 feet

D. 26 feet

—

2) The diagram below shows a ramp connecting the ground to a loading platform 4.5
feet above the ground. The ramp measures 11.75 feet from the ground to the top of the | 2)
loading platform. Find the angle of elevation.

4.5M

3) What is the sine ratio of 2P in the given triangle?

8
B. = 17

P

4) Which is equal to sin 30°?
4)
cos 30°
cos 60°
sin 60°
sin 70°

0w






GSE Geometry Unit 3 — Right Triangles

EOC Review

5) A rope is tied to the bottom of a hot air balloon as shown below. The rope makes an
angle of 35 with the ground and is 75 ft. long. How far is the bottom of the balloon from

5 __
the ground to the nearest foot?
rope 75 fi, L,
= o
A. 43 ft.
B. 53 ft.
C. 61ft.
D. 131 ft.
6) The captain of a submarine views an iceberg from his periscope, as shown in the
figure below. What is the height of the iceberg to the nearest meter? 6)
A. 161 m
B. 192 m
C. 210 m
D. 298 m
7) Jeff lives on Oak Street, and Tom lives on Main Street. How much farther, to the
nearest yard, is it for Tom to walk down Main Street and turn on Oak Street 7

Main St

Tom’s
House

Oakst [ 10yd

46 yd
48 yd
126 yd
172 yd

0w
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GSE Geometry Unit 4 — Circles, Angles, and Area EOC Review
Name: Block:
Vocabulary: Sine, cosine, tangent, complements
1) Find mZGHJ 2) Find mCD 3) Find m£C
. C
G B
100° J D
4) Find m£1 and m«£2 5)Find1&2 6) Find 1.
1 41°

33 131°

&

7) Find 1 & 2.
105°

|
Gl

130°

8) Find the area of a circle with a
diameter of 22 inches.

9) The circumference of a circle is
25.12 ft. What is the radius?

10) Find the arc length of AB

m.
S

11) Find the area of the shaded region

b R

12) If the radius of the circle is 6
centimeters, what is the area of the

shaded segment?
)






GSE Geometry Unit 4 — Circles, Angles, and Area EOC Review
Answers

1) An insulated foam sleeve is made to fit over water pipe. The distance from the center
of the water pipe to the edge of the sleeve is 6 inches. The hole in the center has a 1)
radius of 3 inches. What is the area of the face of the foam sleeve?

9.42 in?

18.84 in?

84.78 in?

141.30 in? .
=

2) This circle, with center point Q, has a radius of 10 centimeters. The length of the

Cow>

minor arc NP is 20.42 centimerters. To the nearest degree, what is the value of x? 2)
A. 110° N
B.
C.
D.

117° 20.42 cm
204°
233°
)
P

3) Find the area of the shaded sector of circle O.

3y
5t
207 10
251
50 0

4) What is the area of the shaded part of the circle?

X
57 2
—TmnTccm
4
135 2
_8 mecm
405 2 VA
8
513 2
TT[ cm

o0 wp

4)

o0 wp»
|
3
a
3






GSE Geometry Unit 4 — Circles, Angles, and Area EOC Review
5) What is the measure of LABC?

4 5)

120° ¢

15°
30°
60°
120°

oCow»

6) In this circle, AB is tangent to the circle at point B, AC is tangetnt to the circle at point
C, and point D lies on the circle. What is the mzBAC? 6)

7) The measure of CD is 80°. What is the value of x?
7)

A

A. 50
B. 40
C. 35
D. 25
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